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1.  HSF.TF.5  State the period, amplitude, and equation of the midline.  (3 pts)
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2.  HSF.TF.5  State the period, amplitude, and equation of the midline for the function   (3 ots)

3.  HSF.TF.5  The table gives the average monthly high temperatures for Pierre, SD.  Write a cosine function that models the temperature as a function of the month.  ( 3 pts) no calculator
	Average Monthly High Temperature – Pierre, SD (°F)

	January
	30
	July
	89

	February
	35
	August
	87

	March
	45
	September
	76

	April
	60
	October
	61

	May
	70
	November
	44

	June
	80
	December
	31
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Use the graph to answer questions 4 and 5.
[image: C:\Users\jay\Desktop\Capture.JPG]
4. HSF.IF.4   State the x-intercept(s), y-intercept(s) and the end behavior for the function graphed.  (3 pts)
5.  HSF.IF.4   Estimate the relative maximum, relative minimum, and state the intervals in which the function is increasing, decreasing, positive and negative.  (3 pts)

6-11  A small object at rest on a frictionless surface is attached to a wall by a frictionless spring.  The spring is a coil spring that can be stretched and compressed beyond the relaxed position.  The object is pulled away from the wall to stretch the spring and then released.  The graph shows the displacement d, in centimeters of the object from its resting position as a function of time t, in seconds, as the object oscillates.
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6.  HSF.IF.4   What is the d-intercept and what does it represent?  (1 pt)


7.  HSF.IF.4   What is the time it takes for the spring to return to its initial stretched position after it is released?  (1 pt)


8.  HSF.IF.4   What do the t-intercepts represent?  (1 pt)


9.  HSF.IF.4   Describe the position of the object and the condition of the spring when d(t) is at a maximum.  (1 pt)


10.  HSF.IF.4   Describe the position of the object and the condition of the spring when d(t) is at a minimum.  (1 pt)


11.  HSF.TF.5  Write an equation to represent d(t).  (2 pts)



12-14   Smoke jumpers are in free fall from the time they jump out of the plane until they open their parachutes.  The function  models a jumper’s height h in feet at t seconds for a jump from 1600 ft. 

12.  HSF.IF.5   How long is the jumper in free fall if the parachute opens at 1000 ft?   (1 pt)



13.  HSF.IF.5   What is the domain of the function in this situation?   (1 pt)


14.  HSF.IF.5   What does the domain of the function represent in this situation?  (1 pt)



15.  HSF.IF.7e   Graph two periods of the function  .  Show the midline as a dashed line.  (2 pts)
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16.  HSF.IF.7e   Graph  .  State the intercepts and the end behavior of the function. (2 pts)
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17.  HSF.IF.7e    Graph  .  State the intercepts and the end behavior of the function.  
(2 pts)
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